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1 Introduction
Idle mode redistribution procedure uses a timer T360 that clears the redistribution target (frequency or cell) upon expiry.  This then triggers the re-distribution function again.  However, it also causes some ambiguity on the UE behaviour during a transient period and can lead to different outcomes.  This is discussed in more detail below and possible solutions are addressed to fix the ambiguity.
2 Discussion

Idle mode load distribution procedure is defined to re-distribute Idle mode UEs from one carrier to other carriers.  This re-distribution is done based on parameters in SIB of the cell the UE is camped on (say on Frequency F1).  When UE executes the redistribution procedure, it first measures all cells on the relevant frequencies to determine the re-distribution frequency list.  It then assigns a frequency/cell as the highest priority (say F2) and starts Timer T360.  The reselection process is unchanged and happens continuously and asynchronously to this procedure.  This will result in UE reselecting to the carrier F2.  
When the timer T360 expires, the UE clears the frequency F2 as the highest priority.  It also restarts the re-distribution procedure, which also starts the measurements.  In the meantime the re-selection process may already move the UE to frequency F1 as it is the highest priority.   The time taken by the UE for these, while bound by RAN4 requirements, is dependent on implementation and different UEs may complete one or the other process first.  Should the UE reselect F1 before completion of the measurements, it will abort the ongoing re-distribution procedure as per information in SIB of F2 and instead read and act on the SIBs of F1.   
This is shown in the figure below.  
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Figure showing different outcomes arising from the ambiguity 

Possible solutions to fix the issue could be:

1) leave it to UE implementation.  

2) Specify that UE should have completed the measurements before the timer T360 expires so it can apply the re-prioritisation immediately.  

3) Allow the UE to always re-select to the previous highest frequency before reapplying the re-distribution procedure

4) …

Proposal:  It is proposed to discuss if this issue needs to be addressed and the possible solutions to fix this issue.  If a solution is adopted that requires changes in the specification(s), Intel volunteers to provide the CR(s) for the next RAN2 meeting.
3 Conclusion and proposal

The document discussed different possible behaviours during the period immediately after timer T360 expiry.  Different possible solutions were also considered.   
Proposal:  It is proposed to discuss if this issue needs to be addressed and the possible solutions to fix this issue.  Some possible solutions:  
1) leave it to UE implementation.  

2) Specify that UE should have completed the measurements before the timer T360 expires so it can apply the re-prioritisation immediately.  

3) Allow the UE to always re-select to the previous highest frequency before reapplying the re-distribution procedure

4) …

If a solution is adopted that requires changes in the specification(s), Intel volunteers to provide the CR(s) for the next RAN2 meeting.
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